THNDRLE
AEBDELEMNCDEE

c=(211 541 6.9

R . £ FAl | : iE %??"E%
. f | =A0s+D2ER C
:> 3 1
1 A B - D E F 5 6
8 VR TR i [ B
A \\ @ Shift+Ctrl+Enter
DRI TE @ =A2:C3+D2:F3 #AAH



THDHE

1=(3 3 B=(1 ) e=()) o=

_ Ix(—D+2%x1 1X2+2x(=3) _
C:AB:(é.Q(;l-i):<3§04)14i1 3i414§(4@):(1 65

THOHREL, IBBZEZASEEHEZBRLELD ‘

D=BA=(_1 2)(1 2)=((—1)><1+2><3 (—1)><2+2><4)_(5 4)

1 -3/\3 4 1x1+(-3)x3 1x24+(-3)x4/ \-8 —-10

fae=(3 Q) =Girax2) = ()

175 X BRLARIRIL



- 1 -1 2 -3
p=(, ¢ ) E= ( 31 2 0
0 2 4 1
1 -1 2 -3
2 3 7 7 18 0
F = DE = ( )( 3 1 2 0 ) = ( )
c 6 05 4 1 19 13 42 -6
0 =
] 3] 1 - 2 -3
4 6, 3 1 2 0 7
,: — F
=MMULTIL AT 20 aJl:fil:ﬂ.l] 1;

/

DRFEE

|
* (@ Shift+Ctrl+Enter

@ =MMULT(A12:C13,D12:G14) A H



TS
1 2
A=(; ;) OETHERDE NP

|:'> A 1 2 A-1 -2 1
A, 1 2 A1 |=MINVERSEER1 C22
[ 3 4] i\ l j 3 4 1.5 -05

/ @ Shift+Ctrl4+Enter
DO#4ETE @ =MINVERSE(B21:C22) # AN

AITETHIA E M BEEMITIIRE> g1y o 1 (¢ By H
ad — bc a’/\c d

b . 1 _  lad —
A= (? d) AT = ad — bc (—d ab) - adibc (Z? — Zg Izlccll llggcci) (1 0)

g eli.  ROER . Tw

f

. | 15 03] AxA—1
kAt =MMI_|LK:E;21I ce2 F21.Ge2) :> O 1
7 - @ Shift+Ctrl+Enter

OBHEE 2 =MMULT(B21:C22, F21:G22) %A 77



